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General Instructions :
Read the following instructions carefully and follow them :

(i)
(i)
(1it)
(iv)
(v)
(vi)
(vii)

(viii)

(ix)

61/5/2

This question paper contains 34 questions. All questions are compulsory.
Question paper is divided into five Sections — Sections A, B, C, D and E.

Section A - questions number 1 to 21 are Multiple Choice type questions. Each
question carries 1 mark.

Section B — questions number 22 to 27 are Short Answer type questions. Each
question carries 3 marks. Write answer to each question in 60 to 80 words.

Section C — questions number 28 to 30 are Long Answer (LA) type questions.
Each question carries 8 marks. Write answer to each question in 300 to 350
words.

Section D — questions number 31 to 33 are Source-based questions having
three sub-questions. Each question carries 4 marks.

Section E - question number 34 is Map-based question that includes the
identification and location of significant test items. This question carries
5 marks. Attach the Map with the answer-book.

There is no overall choice. However, an internal choice has been provided in
Sections B, C and E of question paper. A candidate has to write answer for
only one of the alternatives in such questions.

In addition to this, Note that a separate question has been provided for
Visually Impaired candidates in lieu of questions having visual inputs, Map
etc. Such questions are to be attempted by Visually Impaired candidates only.

SECTION A
(Multiple Choice Type Questions) 21x1=21

Which of the following was the consequence of not paying the revenue by
sunset on the specified date under the British Sunset Law enacted in
Bengal ?

(A)  The payment period was extended

(B) The Zamindari was put on auction

(C) The revenue rates were reduced

(D)  The case was referred to the High Court

Which one of the following policies by the British led to discontent among
Indian soldiers, contributing to the Revolt of 1857 ?

(A)  The policy of Subsidiary Alliance

(B)  The Doctrine of Lapse of Dalhousie

(C)  The use of Enfield Rifles with greased cartridges
(D)  The introduction of western education system

Page 3 of 27 P.T.O.
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3. @S TMeRRI il TR & 1905 o WA TS 3ieiei o JdT shl &= ShifsT |

o LN HATA-STA-UTA” AT feiehg! =6t fewewn &, St farfvr Wit & & o sfrersia
ot 3k S1Raet T =fer 1 gwriar o)

e JAMALHI

(A)  oTeT TTER foeteh
(B) wa fég

(C) Tl 8T T
(D) ATAT ASYA T

4. e ded i Frerffan & & F-ar e ad g 2 2

@yl &y I1
(@faerm qsn #1 afifaar) (37678)
A) frmdfafa B CIESINERS
(B) w9 itk afufa - #a
(C) E= Hfayw afdfa — ST I
(D)  Widig Gfeem afufa — IV U
5. Tafafed o o s (3nfesm) @ wiem aur it afeer g i of 2
(A) ETHEA
(B)  ies v
(C)  HTeTdt =ery
(D) WY

6. Tk T AN o Hey § el i ulgt | FferRaa o @ gt faere Y we=m Sifsio |
I. SeTS TR o ST oh SR ohl ST o ToTU Wek STi=r ST sht TTOHT < |
II. 1878 H qadk 41 ot Feate forferer wiwre & s o1 i€ |
III. T &t fdie O Fhaet TeaereRiat & are ferawor snder o |
IV. ST isRaT 8 i ST ETeshii o s &St [ohT T o |
forerea
(A) I, II3FARII
(B) IL IIIARIV
(C) LIIARIV
(D) I, IIARIV

61/5/2 Page 4 of 27

&




X EE 0

3. Identify the leader of the Indian National Movement in 1905 with the
help of the given information.

o This leader was a part of the trio known as Lal-Bal-Pal, signifying
their all-India character despite being from different provinces.

. He belonged to Maharashtra.

(A) Bal Gangadhar Tilak
(B) Bhagat Singh

(C) Lala Hardayal

(D) Lala Lajpat Rai

4. Which of the following pairs is correctly matched regarding the
Constituent Assembly ?

Column 1 Column I1
(Committees of Constituent Assembly) (Presidents)
(A)  Rules of Procedure Committee - Jawaharlal Nehru
(B)  Union Power Committee - B.N. Rao
(C)  Union Constitution Committee - Bal Krishna Sharma
(D)  Provincial Constitution Committee — Vallabhbhai Patel
5. Who amongst the following was the female member from Orissa (Odisha)

in the Constituent Assembly ?
(A) Hansa Mehta
(B)  Durgabai Deshmukh
(C) Malati Chowdhury
(D) Renuka Ray
6. Read the statements about the Deccan Riots Commission. Identify which
of the following options is correct.
L The Government of Bombay established an enquiry commission to
investigate the causes of the riots.
II. The Deccan Riots Report was presented to the British Parliament

in 1878.

III. The Commission’s report included only qualitative data from the
eyewitnesses.

IV.  The enquiry process involved recording statements from ryots and
sahukars.

Options:

(A) I, II and III
(B) IL III and IV
(C) LIlandIV
(D) I, III and IV
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7. 3 e QU Y E, AR (A) SR FRO (R) | S MY 96T R T
[EETSEIICREEAIS 1
HFT (A) : TS Atsell GRT IE T TT5 TS EIoT JOITedT 5 R R i

TR HASTIT R fe |
FRU(R) :  HEIH G o dad YR T ITEehi 39T 8= Tiar @i 2t |
forepea .
(A) AN (A) T FROT (R) HT Tt & 3T FHR0T (R), AR (A) T &t
ST HAT R |
(B) SR (A) R HROT (R) AT €& &, W] 0T (R), AR (A) T &t
SATET T& HLaT 2 |

(C)  3ATHIA (A) HET R, T SR (R) TAT 2 |
(D) AT (A) TIed &, T R (R) W& 2 |

8.  Tfefiaa o & 3fra forepe & ek worr st qfd hifsr ;
STet sfaeTeeni faST 9= 3o T YA ohid §, el THehIeE ANl 3 39 “oieeh

» ol G T |
(A) B
(B) wmHsIq
(C) =R
(D) -«

9. SR Y FIHTSY F! G FIHIE] TG G Hl, 3R 19 &G G 97 H oA Gafd
7RI St FHT 1 STTATIT FHi |

T T S o 3TI |TTforeh-Tstifersh ©ax 1 8 awitedt & 2
(A) YRR ITE | wTdaaTs 1 qqde

(B)  FRHRTT 7 GHe ST SR 6l STretremT

(C) st dufs T THei, YRA ol FHHAL GHSHT

(D) I FHAT ST 6 28T H foreame
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Two statements labelled as Assertion (A) and Reason (R) are given below.

Read them carefully and select the correct option :

Assertion (A) : The Subsidiary Alliance system introduced by Lord

Wellesley, significantly weakened the Indian Princely

States.
Reason (R): Indian rulers lost their military autonomy under the
Subsidiary Alliance.
Options:
(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).
(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).
(C)  Assertion (A) is true, but Reason (R) is false.
(D) Assertion (A) is false, but Reason (R) is true.

Fill in the blank with the appropriate option from the following :

While historians use the term Vijayanagara Empire, contemporaries
described it as the “Karnataka 7.

(A)
(B)
()
(D)

Hampi
Samrajyamu
Nagara

Empire

Bernier compared the Mughal Empire to the French monarchy, and

particularly criticized the absence of private property rights in India.

How does this comparison reflect Bernier’s own socio-political context ?

(A)
(B)
(&)
(D)

Advocacy for feudalism in Indian governance
Support for absolutism and critiquing India
Support of private property, leading to underestimating India

Belief in the superiority of European legal structures

Page 7 of 27 P.T.O.
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I. SIS ohT ITETRTA
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ITI.  SITESIEl Al ISR
IV. ST sl SIe-ehTel

faemea :
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(A)  HfSIA-STeTET
(B) THug-sremal
(C)  Hooh-3ATSITRT
(D) TFR-TA

12.  Freferian § & o e T R R e S w2 2

(A)  FHHHCIS

O

(B)  Uif~139 9t
(C) FrEadl
(D) HGradETga
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Which of the following options represents the correct chronological order

of Mughal rulers in India ?

L Reign of Aurangzeb
I1. Reign of Akbar

III. Reign of Shah Jahan
IV. Reign of Jahangir
Options:

A LILII IV

(B) ILIIIV,I

(C) IOLILIL IV

(D) ILIV,IIL I

If you were researching the economic policies and revenue collection

methods of Akbar’s reign, which of the following sections of the

Ain-i-Akbari would provide the most relevant information ?

(A)
(B)
()
(D)

Manzil-Abadi
Sipah-Abadi
Mulk-Abadi

Daftar-e-Nau

Which one of the following is a famous literary work authored by Raja

Krishnadeva Raya ?
(A) Amuktamalyada
(B)  Ponniyin Selvan
(C)  Kadambari

(D)  Malatimadhava
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13. ST 3R 3R G;’Eﬁ T Th Eﬁﬁﬁ (documentary) SHHT &, Al Shi-4T qee] 3h

TR TET hl TeTE TS IS R ?
(A) T AT § AT HERA

(B)  IToh ShierdTd ST Hrfie &

(C) 39 o forehrd © SehT ATTEN

(D) faocl geaa & 3T Heiy

14. Trefafigd 7§ @ 3o oA 3 sra-foreft o il % sfter shia-eft T e 2

(A)
(B)
©
(D)

T 3 ST HERIT o THR AT & W@l
HEIERIEECIRCIE A TGl I E )
ST = e Sfaeme uX e shfsd foram
T+ T Afa-farsii i sTretr=mT

15. T fom o fowrs w8 aferer sht wfd fefctiad @ & ford shetr-3ieft & wifed & 2

(A)
(B)
()
(D)
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If you were to create a documentary on Amir Khusrau, which aspect

would best highlight his cultural significance ?

(A)
(B)
(&)
(D)

His proficiency in Arabic language
His poetry and musical sama
His contribution to the development of Urdu

His association with the Delhi Sultanate

Which of the following is a similarity between the works of Ibn Battuta

and Al-Biruni ?

(A)
(B)
(®)
(D)

Both aimed to spread their culture
Both travelled to seek knowledge
Both focused on political history

Both criticized local customs

The sculpture of the Bodhisatta statue shown in the image below is

influenced by which of the following schools of art ?

(A)
(B)
(®)
(D)

Mathura
Gandhara

Amravati
Nalanda

Page 11 of 27 P.T.O.
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fAeaforfiga se7 e gfeaTfara udterfefal & o v €. 15 F T W E -
IR 7 S AT TS feforfiaa o @ forer & o Rerq € 2

(A)  USTEIHE
(B) HEWIE
(C) fRER

(D) enfesm

Frfaitaa STHRT Y geraT 8 Ui ST 0 <hT ge=m e

o  EEepa Uy Skt HehotT 200 .9, | 200 3. o oft= g3 |

o IR GiEAT! T AUk HHEE IR fohaT 3T |

o WIS Sfia o fafir waeretl W fewmfadst yem fohu g |

@) e
(B) THETT
(C) Uiy
(D) dg
St U & Hewl § & [ o1 Tt &0 11 8 shifSg 37K gt fashed shi == shifsig
Wyl @y Il
(@ 7o) (@0H)
a. fofues i,  H3ih fuHi s EuR
b. e fiew i. gusrsiaeE
c. dgaw iii. & o sig gide™
d. @EEy iv. TAYTS o
foreRea

(A)  a-iii, b-i, c-ii, d-iv
(B)  a-iii, b-iv, c-i, d-ii
(C)  a-i, b-ii, c-iii, d-iv

(D) a-i, b-iv, c-ii, d-iii
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Note : The following question is for the Visually Impaired Candidates, only
in lieu of Q. No. 15.

In which of the following regions are the ‘Barabar Caves’ located in
India ?

(A) Rajasthan

(B) Maharashtra

(C) Bihar

(D)  Odisha

16. Identify the ancient Indian text with the help of the following

information :
. Sanskrit text compiled between c¢. 200 BCE and 200 CE.
o Provided a comprehensive code of laws.
o Offered guidelines on various aspects of social life.

(A) Manusmriti
(B) Ramayana
(C)  Upanishads
(D) Vedas

17. Match Column I with Column II regarding the Buddhist texts and choose
the correct option from the following :

Column I Column I1
(Buddhist Text) (Description,)
a. Vinaya Pitaka i. Rules and regulations for monastic order
b. Abhidhamma Pitaka ii. Chronicle of the island
c. Dipavamsa iii. Regional histories of Buddha
d. Mahavamsa iv. Dealt with philosophical matters
Options :

(A)  a-iii, b, c-ii, d-iv
(B)  aiii, b-iv, c-i, d-ii
(C)  a-, b-ii, c-iii, d-iv

(D) a-i, b-iv, c-ii, d-iii
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18.  frmfafigd @ @ shia-ar et wdtedt .9, % S Tcish TeT hi 36eh o o TTfHes
it & Tl ST et ?
(A) W—H@w;mﬁﬁ—wmﬁ;w—ﬁmﬁ;w—aﬁamﬁ
(B) W—ﬁﬁ;mﬁﬁ—wmﬁ;w—aﬁamﬁ;qﬂn—wmﬁ
(C) W—WW;W—WW;W—ﬁW;W—E@W
(D) W—Wﬂﬁ;ﬁﬁﬂ—%ﬁ;w—aﬁanﬁ;w—uﬁnﬁ
19. = 31 o for e 2, SRR (A) 3R FROT (R) | 9! SAHYEe uley 3R we

orehea =1 = AT
SYFHIT (A) : T WA o ToHIfdeh Siaer ol JHgH & T Sw 8T &1 St

HEEqU T |
FRU(R) :  ANcIEl ot G0 U eI STl 3T Eehi & 9 § STHahRT
et 21
forepea .
(A)  NE (A) 3T FHWOT (R) SHT Tl & 7 FHR0T (R), ANTRAT (A) T aalt
ST AT R |
(B)  Sif¥ehe (A) SR RO (R) T H&T €, W] 0T (R), SAMeher (A) 1 @&t
SqTEAT T AT g |

(C) SR (A) |&l &, W R0 (R) TTeAq & |
(D) 3Af¥he (A) TTed &, T 0T (R) Tt 2 |

20. ffafad o 8 wH-H 7eT9Rd & R Tel T foRwar® ?
(A) T8 3TTfefer foreror ST @
(B) 98 heT+al 1 €U ¥
(C) T4 Wik STIBHI T a0 &
(D) =99 qreifeh =r=d @
21. TS GHIS o Wi ATHTRSTR Il 31 STERIA i o fIg quraaIioral SRT SR
Y ST a1t wrerfires fafer fefafaa g a2 2
(A) YA Hsh T FAEIIT FHAT
(B)  H&Ul shl SIS T [orRetor SHLAT
(C)  STaTET shl UL AT
(D)  ftieh HT=IATST T TEIT LA

61/5/2 Page 14 of 27

&




X EE 0

18. Which one of the following correctly associates a city with its primary
route of communication during the sixth century BCE ?
(A) Pataliputra — Sea route; Ujjayini — Land route;
Puhar — Riverine route; Mathura — Coastal route
(B)  Pataliputra — Riverine route; Ujjayini — Land route;
Puhar — Coastal route; Mathura — Land route
(C)  Pataliputra — Land route; Ujjayini — Coastal route;
Puhar — Riverine route; Mathura — Sea route
(D) Pataliputra — Coastal route; Ujjayini — Land route;
Puhar — Coastal route; Mathura — Sea route

19. Two statements labelled as Assertion (A) and Reason (R) are given below.
Read them carefully and select the correct option :
Assertion (A) : James Prinsep’s work was crucial for understanding the
political history of ancient India.
Reason (R): Deciphering inscriptions provided insights into political
events and rulers.
Options :
(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).
(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.

20. Which of the following is a characteristic of the narrative sections of the
Mahabharata ?

(A) They contain economic descriptions
(B)  They contain compiled stories

(C)  They describe cultural rituals

(D)  They are philosophical discussions

21. Which of the following is the primary method archaeologists used to
study social differences within the Harappan society ?

(A)  Studying cropping pattern
(B)  Analysing designs of seals
(C) Examining burial customs
(D)  Studying religious beliefs

61/5/2 Page 15 of 27 P.T.O.
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[CLERC)
(TI-ITRT ThR o ) 6x3=18

(F)  HETHRA % QHTCAEHTCHh TERT shl daR 3 H off.0e. Fehelient ST 3eht S
ST 3TUHATS T8 ATsRATHT 3T 0 HIfSAY | 3

AUAT

(@) HETYRA hicd o IO UTHETGR el shl TuTfard i aTel forame o ferfi=r werm
1 ol e | 3

ST VT TTHTSAT o [T H Toerhi ol Feerul SfHeRT off | ITTET0N Al e
I ST IS | 3

T AT 3T e AT T “Taicial €Y TTURST” o F9 H W o GIThI0T hl 4
gfefsifera swtar & 2 Tom il | 3

STHIGT A AT RITEH o hTHehTS] H fohd Toh AMTET fodam ? Seredn wfed Wy v | 3

TRl ST HTa o sfi< €oY o J& SRV T {oreeryor SHiTT | 3

(F) FHeuT HINT foF T T SfhaemER F w9 B gEHad! fSeer W AR
AT 3T GAHIT L T8 S | 36 Hel hl AT ST T8 oh TSTehid THRIRT
1 S H HE 7eE HUM ? T HIWT | 3

YT

(@) T HINY foh Td fosRTR amrsa § T AR AT shi JieRrsl
R L @ 8 | STehl ST fiehratl  |IHTsa o R o Fr g
AT ? T8 HIT | 3
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SECTION B
(Short-Answer Type Questions) 6x3=18

(a)  Describe the processes adopted by V.S. Sukthankar and his team
in preparing the critical edition of the Mahabharata. 3

OR

(b)  Describe different patterns of marriages that influenced familial

relations during the Mahabharata period. 3

“Coinage played a significant role in the expansion of early Indian

empires.” Explain the statement with examples. 3

How did the ‘Objectives Resolution’ of the Constituent Assembly reflect

the vision of India as an ‘Independent Sovereign Republic’. Explain. 3

How did the zamindars contribute to the functioning of Mughal

governance ? Explain with examples. 3
Analyse the main causes of conflict between the Paharias and Santhals. 3

(a)  Imagine yourself as a historian reconstructing the events that took
place on the Mahanavami Dibba. How would the architecture of
the platform help you to understand the royal ceremonies ?

Explain. 3
OR

(b) Imagine exploring the roles of the Rayas and the Nayakas in the
Vijayanagara Empire. How did their administrative roles influence

the empire’s stability ? Explain. 3

Page 17 of 27 P.T.O.
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Qs T

(FrE-3TT THR F T9) 3x8=24

28. (%) W WU & AHAT BIel H HIGHAAT oh AT b1 &l TehIhLIT [ohAT 7T & 2 T
it | 8

HYAT

(@) iR feig G ST withHeTsh TSl o sfter st ot o hIfT | 8

29. (%) WEAHC R H GH Gl sht TATSAT TR &S T Tohel1 hT WrEAT B
T T ? Serewn afgd Ts Fifs | 8

AT

@) HREr & aie | o 3w i e a9 § v AeH eI ? 3ereen |fed
Ty it | 8

30. (F) A &k A § 9IRT SIS ARG H 5 foet IR wfowr stagm i
o | IR bl oh AT U hl Y AT | 8

YT

(@)  “TIAedT o 918 U TehaT I T ol STaT o o [T TTeffsht o =qed H fohT
T JATET ohT 37ehT STATSHRAT o &9 H @1 ST & |7 T shl T0g hifNT | 8
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28.

29.

30.

61/5/2

(a)

(b)

(a)

(b)

(a)

(b)

X EE 0

SECTION C

(Long-Answer Type Questions) 3x8=24

Examine how the sculptural elements are integrated within the

architectural framework of the Sanchi Stupa.
OR

Examine the relationship between Puranic Hinduism and

devotional practices.

How did the practices and teachings of Sufi saints in medieval

India promote a sense of unity ? Explain with examples.
OR

How did Mirabai’s devotion contribute to the broader

understanding of divine love ? Explain with examples.

“Gandhiji’s leadership in the ‘Quit India Movement’ involved
organizing mass protests and civil disobedience.” Justify the

statement with suitable arguments.
OR

“The Gandhiji led efforts to promote national unity and peace are
seen as his achievements after independence.” Examine the

statement.
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feLER)

(BA-SATLTRA T9) 3x4=12

31. feuwUE I eamgEes ufey i e fdg 1T Jet % I N ; 1+1+2=4
arae 9 freRerar weft

7% R § fer o v 30T @ -

Y SToH T AT § W A TR T gAT... § 3Tehart &t et aer, fom forelt
areft AT, AT FRET o ST et § § M 81 Heh, WAfeh 370 e Tk Sferset
AT 3R 37 TG U 1 3@ 1 3987 Sl ol 90 § W a0 & off, §
TTferd Bt | T B 319 I o1 Bt T & fer 61 gg foram o7t s1o s =t
Y & BIe T S el 39 =Hiee i 81 4d ©... 39 99 5 37 argy v of |

T ST 1354 H SR ST0™ GET, 3T AT ST i o6 ST 1 o o71< |
(31.1) 37 SIqAT o TEAT o €W H T&ft o G SIS o Yd1hale I AT g | 1

(31.2) 3o ST T STUT ATAT o S 373 TRt T T[T 6T forzetwor hifS | 1

(31.3) EEHIA 6 € H 3o ST 3h ATAT oh HE T [T HIST | 2

32. TRUTTHEN I LAMYEe qfgq R = faq 1T i o I i ; 1+1+2=4
o <Al afeaar

e T RATT ITHETET H 2000 & (e TS0 qaTicas 9 @IS S o 3 |
HAereRieT Toret Ry ST Sreadt et Bfedt o st R aTe ST & | ST 2/3 St
T SIfe | &, ST gHehT ST eeh el a¥Midl @ | i< THE el hl T i T3 ¢ |
I & — TENIEY, HIesiiget, TSTT, eI ST el | 3w fafi= Sifor s asfiar

ohg, Y TTTe, SeTTTE SR fafmior shs o 8 |

(32.1) TEAT SITHA H GSWIT FRKAT oh HEAAT o el ohl TG hISTT | 1
(32.2) TS GURAAT o FTMTehL0T o Hewel shi U0 SHIST | 1
(32.3) BSTIT SRAT ol SIHTY T | AT AT fehT hl T HIfST | 2
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SECTION D

(Source-Based Questions) 3x4=12

Read the given source carefully and answer the questions that follow :

1+1+2=4

The bird leaves its nest

This is an excerpt from the Rihla :

My departure from Tangier, my birthplace, took place on Thursday... I
set out alone, having neither fellow-traveller... nor caravan whose party I
might join, but swayed by an overmastering impulse within me and a
desire long-cherished in my bosom to visit these illustrious sanctuaries.
So I braced my resolution to quit all my dear ones, female and male, and
forsook my home as birds forsake their nests ... My age at that time was
twenty-two years.

Ibn Battuta returned home in 1354, about 30 years after he had set out.

32.

(31.1) Analyse the symbolism of the bird leaving its nest in the context of
Ibn Battuta.

(31.2) Analyse any one challenge that Ibn Battuta faced during his
journey.

(31.3) Analyse the significance of Ibn Battuta’s journey in the context of
culture.

Read the given source carefully and answer the questions that follow :

1

2

1+1+2=4

Harappan Settlements

So far, more than 2000 Harappan archaeological sites have been
discovered in the Indian sub-continent. Most of the sites are found
located between the Indus and the Saraswati River basins. Nearly
two-thirds of these settlements are in the Saraswati basin, suggesting its
immense importance for the Harappan Civilisation. Among these, five
major cities have been identified. These are Rakhigarhi, Mohenjodaro,
Harappa, Dholavira and Ganweriwala. The remaining sites come under
different categories such as Regional Centres, agricultural villages, ports
and manufacturing centres.

61/5/2

(32.1) Examine the significance of the concentration of Harappan
settlements in the Saraswati Basin.

(32.2) Examine the importance of classifying Harappan sites.

(32.3) Examine the role of rivers in sustaining the Harappan
settlements.

1
1

2

Page 21 of 27 P.T.O.

&

#



X B
33. TRuTTHEN I Sy qfgu AR =t fag 1T St o I i ; 1+1+2=4

1857 & 3t fagigt
I8 7l

T8 7 I TR o SSId T 6 T S 719 o L& a1t o | I8 T SIS Fgwdl § Haiel
TG o ST SN o8 (SR 7T 5 AT 53T o1 | 36 SoTeh ol STHIA fEETs ol gferensr
H A 3R 39T, off | T fob firgh ahreft = oft | g o ameftor wo=1 & ofk e forfest
VTSRS SATET 1 THFRRT HIAA o : TR shi 8T SaTaT 3 Il aved off | Tefis a8
o7 for foramat Y S St AT o6 =1 § 7 @ oY | ST | ST 9Tl S 37
TS STHI T hosTT hld STR 9 |

T8 e A =TT <6 o GREFTAT T hreershrdl shi WIS foham | g80eh fofq 381 Tl o
T | Te-TT7e ST ST sl 3R AT okl IS o Raenns 8 o iy A o | g
| g8 TAMI 2l e TRl i SAUST o Rt SAidier Tsh samveh fomie # qedier &
T | A oy Scfied 3R A= o auW &l & g g o | fohe 3 ©@q
B et U2 ST HETSHI o SATATRAT o SR e A | sSewgel speatvi | fed
Teh! STHIAT OX SIS shosTT L ToTaT | 9178 Wl o STTEIRIT 5 Skt SRl 9T e fora,
Tt T o e R foAT S uerehl weehl i @ie ST | 39kl U oiE 98 ot R o
GTHT TSI sh T UshAT =TEd o | GHL =IoTe I off foh qeii A1 wgeni w1 forfear smem
=T Ylleh AT ST o7 | 32 foeet! # fagie s aret faurfeat 1 we ugars 3k
forfeer SedaTet 9 tHa & s qaT TRehR] §eR sig o T3 | T Tl o) ST gl
T I8 A o Ueh 3T ABHL & A H U STeAT, ST T T a1 919 T 1
IR © FTST SR foaTaT 1 HHAT FA T | IR o AT Y SIS Hearh T
o o | %% v o T < e @ R fRft O me | e © TR SR T

TR |

S[ATS 1857 H T8 He bl I H AR o1 7w |

(33.1) TITE A o ~qcd A 51T o TOR H ohdl IRTEH fea 2 1
(33.2) & 7 o ~Ifcdl H ToR1g « ST &1 b fohd T TN & 2 1
(33.3) T8 0 G AT o <l TATIHT 3ok ITE o GIERIVT hl hel Gl © 2 2
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33. Read the given source carefully and answer the questions that follow :
1+1+2=4

Two rebels of 1857
Shah Mal

Shah Mal lived in a large village in pargana Barout in Uttar Pradesh.
He belonged to a clan of Jat cultivators whose kinship ties extended
over chaurasee des (eighty-four villages). The lands in the region were
irrigated and fertile, with rich dark loam soil. Many of the villagers were
prosperous and saw the British land revenue system as oppressive: the
revenue demand was high and its collection inflexible. Consequently
cultivators were losing land to outsiders, to traders and moneylenders
who were coming into the area.

Shah Mal mobilised the headmen and cultivators of chaurasee des,
moving at night from village to village, urging people to rebel against the
British. As in many other places, the revolt against the British turned
into a general rebellion against all signs of oppression and injustice.
Cultivators left their fields and plundered the houses of moneylenders
and traders. Displaced proprietors took possession of the lands they had
lost. Shah Mal’s men attacked government buildings, destroyed the
bridge over the river, and dug up metalled roads — partly to prevent
government forces from coming into the area, and partly because bridges
and roads were seen as symbols of British rule. They sent supplies to the
sepoys who had mutinied in Delhi and stopped all official communication
between British headquarters and Meerut. Locally acknowledged as the
Raja, Shah Mal took over the bungalow of an English officer, turned it
into a “hall of justice”, settling disputes and dispensing judgments. He
also set up an amazingly effective network of intelligence. For a period
the people of the area felt that firangi raj was over, and their raj had
come.

Shah Mal was killed in battle in July 1857.

(33.1) How did Shah Mal’s leadership contribute to the spread of the
rebellion ? 1

(33.2) How did the rebellion led by Shah Mal challenge the authority of

the British ? 1

(33.3) How does Shah Mal’s establishment of a “hall of justice” reflect his
vision of governance ? 2
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LG chcd
(AT fRrE-STTerTiia T ) 3+2=5
34. (34.1) WA % G T ASHTTF W@T-AME (T8 27 W) ¥, fefafad # sugad
fagt @ 2ifshra HifSTe 3 37 7™ foifae 3x1=3
(i)  SHUEd - &

(i) e - foy =t e

(i) (F) TS — AT o (0T Tt &t
FroraT

(il) (@) TR - faER sy i TSy

(34.2) WRA % $ET WI-AFRE T YA TSI SieIa O Heferd &f sheal sl ‘A’
3N ‘B’ § 3iferd foram T ® | SR TRSITT 31T Ik Gl AT 3ok R
=t 78 TEeT W fafau | 2

qie : FEfad S99 SFae givaTiara adterrfefat & U 9. €. 34 H T W3

(34.1) T qRa § feora foheel 31 UT=fia oitg, Treti o1 Seoi hifvTy | 2

(34.2) (%) T WTHTST o e Torell ToF &1t 1 Seeid shifoIg | 1
arera

(34.2) (@) fasar amETsT St TeteTET @ A fefay | 1

(34.3) 1857 % s o ferrel a1 sl AT Seora AT | 2
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SECTION E
(Map-Based Questions) 3+2=5

34. (34.1) On the given political outline map of India (on page 27), locate
and label the following with appropriate symbols : 3x1=3

(i) Amravati — Stupa

(i1) Banawali — Indus Valley Site

(iii) (a) Ajmer — Territory under the control of the Mughals
OR

(iii) (b) Vijayanagara — Capital of Vijayanagara Empire

(34.2) On the same outline map of India, two places have been marked
as ‘A’ and ‘B’, as the centres of the Indian National Movement.
Identify them and write their correct names on the lines drawn
near them. 2

Note :The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 34 :

(34.1) Mention any two ancient Buddhist sites in Central India. 2
(34.2) (a) Mention any one territory under the Mughal Empire. 1
OR
(34.2) (b) Name the capital of Vijayanagara Empire. 1
(34.3) Mention any two centres of the Revolt of 1857. 2
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For question no. 34
e, AT T YT — AT (A feR)
L . _ Outline Map of India (Political)
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